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kidg;nghUspay; 

juk; - 11 

,uz;lhk; jtizg;guPl;ir – 2025 

tpilfs; 

1 (2) 11 (4) 21 (2) 31 (3) 
2 (4) 12 (1) 22 (1) 32 (3) 
3 (4) 13 (4) 23 (4) 33 (3) 
4 (2) 14 (2) 24 (1) 34 (1) 
5 (4) 15 (1) 25 (3) 35 (1) 
6 (3) 16 (2) 26 (1) 36 (2) 
7 (2) 17 (1) 27 (3) 37 (4) 
8 (1) 18 (3) 28 (3) 38 (2) 
9 (2) 19 (2) 29 (4) 39 (3) 
10 (1) 20 (1) 30 (3) 40 (4) 
 

gFjp ii 

01) 

i) fy;rpak;> ,Uk;G 

ii)Nghrizj;Njit> tpUg;G ntWg;Gf;fs;  

iii)gOjilahj czthf fhzg;gly;> vspjpy; vLj;J nry;yf;$ba jd;ik> 
rkpghl;Lf;F ,yFthdjhf fhzg;gly; Rfhjhu jd;ik 
iv)khztupd; tpilf;Nfw;g Gs;sp toq;fTk; 

v)tNahjpggUtk;> nghUj;jkhd czTfs; 

vi)khztupd; tpilf;F Gs;sp toq;fTk; 

vii)tpspk;GfSf;F nghUj;jkhd ijay;Kiw> Xuq;fis Neu;j;jpahf;Fk; Kiw> 
ijay;El;gKiwfs;> fiu myq;fhu Kiwfs; 
viii)khjpupAUnthd;iw jahupj;jy;> Jzptif E}y; Mfpa tpguq;fis jPu;khdpj;J 
xd;wpid jpl;lkply; 
ix)mwpT>jpwd; > kdg;ghq;F>ciog;G 

x)khztupd; tpilf;Nfw;g Gs;sp toq;fTk;.                                 

(2 10= 20Gs;spfs;)  

2) 
i)tpl;lkpd; A FiwghL> ,Uk;G FiwghL mabd; FiwghL  

ii)Fth]paf;Nfhu;> kuh];k]; 
 
iii)cau;FUjpaKf;fk;> nfhy];l;Nuhy; kl;lk; mjpfupj;jy; ,jaNeha;> khuilg;G 
ghlE}y; gf;fk;103 

 (3+3+4=10) 
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3) i)cztpy; mlq;fpAs;s Ez;Zapu;fspd; tsu;r;rpNahL nehjpaq;fspd; 
nraw;ghl;Lf;F gad;gLk; ePupd; msT  
 
   ii) guty; nrwpT $ba Clfj;jpypUe;J nrwpT Fiwe;j Clfj;jpw;F jpz;k 
Jzpf;iffs; gazpj;jy; 
      Gwg;gpurhuzk; nrwpT $ba Clfj;jpypUe;J nrwpT Fiwe;j Clfj;jpw;F 
jpz;k Jzpf;iffs; gq;$LGftpLk; nkd;rt;tpD}lhf gazpj;jy;  
 
  iii) ghlE}y; gf;fk; 87(3+3+4=10) 
 
 
4) i)Efug;gl;l rpf;fyhd czTg;gjhu;j;j;q;fs; nehjpaq;fspd; jhf;fj;jpdhy; vspa 
epiyf;F ePu;gFg;gilAk; nraw;ghL; 
 
  ii) tha;f;Fop> ,iug;ig> Kd;rpWFly;> rpWFly; 
 
iii)khztupd; tpilf;Nfw;g Gs;sp toq;fTk;                             

                                                (3+3+4=10) 
 
 
5)i)rf;jpNjit> GujNjit> fy;rpak;> tpl;lkpd; A  
 
 ii) khztupd; tpilf;Nfw;g Gs;sp toq;fTk; 
 

iii)ghlE}y; gf;fk; 41  

                                                (3+3+4=10) 
 
 
6)i)khztupd; tpilf;Nfw;g Gs;sp toq;fTk;  
 
ii) rq;fpypj;ijay;> NyrpNlrp ijay;> rpWE}Nyhly; ngUE}Nyhly; jl;ilnghUj;J 
 
iii)khztupd; tpilf;Nfw;g Gs;sp 
 
                                             (3+3+4=10) 
 
 
7)i) rpNefG+u;tkhd cwT tpUj;jp>  
    FLk;g mq;fj;jtu;fSf;fpilapy; md;dpNahd;ak; tpUj;jp 
    cs jpUg;jp kfpo;r;rp Vw;gly; 
 
 ii)tpohtpd; jd;ik> tpoh eilngWk; Neuk;> ,ltrjp 

iii) khztupd; tpilf;Nfw;g Gs;sp 
 
                                            (3+3+4=10) 
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